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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence.

21- Peter’s health is endangered because he ate a lot of cakes last

night. He ...... to school next week.

(Y samio b b 30 g JoSo — ui 39 SUS)
1) won’t go 2) goes
3) going to go 4) doesn’t go

22- Pm...... stay home on the weekend. I have a lot of homework

to do.

(Y8 oo b i o g JoSo — (w39 WLS)
1) will to 2) going to
3) will 4) don’t

23- People found an injured panda near the lake. They hope to

...... and return it to the plain.
(V) samio b b 30 g JoSo — oy SLS)
1) destroy 2) increase
3) save 4) live
24- My sister is going to ...... a new house soon. She has enough
money.
(YO samio b bad o g JoSo — (i 33 HLS)
1) travel 2) cut
3) teach 4) buy
25- Forests are the ...... home of different animals, but humans are

destroying them by cutting the trees.

(V) o b fad po g JoSo — w39 SLS)
1) natural 2) alive

I 3) endangered 4) hopeful



o

Qb asly Jxa

bisaT L8 gt Jsl @sa,T
26- 1 like to visit a big beautiful ...... with many happy animals
and birds.
(V) samio b d o g Joo — g 39 IUS)
1) future 2) plain
3) movie 4) attention

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space.

Nowadays, there are many endangered animals that need our (27)...... .
Their number does not increase if we (28)...... their homes. And if we do not
help them, we will find only a few of them around us. Some examples are
whales, pandas, tigers and Asian elephants.

Only a few of animals will be (29)...... , if humans keep destroying the forests,
lakes, and plains. When the number of people on Earth increases, they need
more places to live. They cut trees in the forests and make homes and roads
instead, but it is very dangerous for animals. It means that the animals won’t

have a place to live and they will (30)...... .

27- 1) group 2) example
3) attention 4) world
28- 1) visit 2) enjoy
3) study 4) destroy
29- 1) alive 2) injured
3) interested 4) wild
30- 1) take care 2) die out
3) pay attention 4) go out

(85 5 S 355 — o 30 WLS)
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